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Puzzle 1 (Hard, difficulty rating 0.63)

|

o|lo|~|<|w|olafm]|—]  flo|~|o]m|o|wo|c|—|< _Joo[t|o]wo|=|—||o|o] ||| —]o||wo]o|m|~
S 3 3

—|m| || o< |o]o A auf<t|o|wof—[~]o|o|o] Slo|o|~|s|m|a)—|v|o]  S|o|c| o] —[<|~]o|w|w
E o -

w|<t|olm || —|o ||~ Sloo|o| —|<t ||| |w[m]  Slo|a|—|o|o|o|—|<t{m] -S| |wo|w|o|m|w] ||~
2 o ©

o|ai|wo)o|on| =[] alo|m|o|=|x|w]oln—|  FH|m|w|n|o|=|o[—|©o] Fo|o|w]st|o]—|[—|m
£ =} =]

m|o|s|—|o|~|o|w|a] Tlo|—|w]a|om|o]s|~|w0 %762815934 %8_{2359614
€ © ©

[~ |o|w|o|]ofst|of Sl ||=o|o|—|o|m|v]l  Slo|—|wo|o|s|@|wl~o ol <|—|©|afo|o]w
e] ful (%]

() © ©
o|~|m|o|—|w]o|nfs] S|l |Nfo|o|st(o] I~ Sm|o|ofo|Nfw]  wlw|m|o|o]—|ol~| <o
N ™ <t
< |w|olc|~|m|—|o]| o o|m|o|a]o|o| <] ]|~ olo|w|m]—|c| o)<t — ol—|w©|o]ay|=|<|m|w|o
N N N
N|o|—|o[s|ofo=(m] - Sl—|o|s|o = (mlv]o zlelol— e el 2l T ele| || e




